f%\ eco
7)) |pnss
PORT. :hager
Product Environmental Profile
Modular single speaker outlet W.1 white

Company information References covered

Hager For the complete list of the covered references, see details in Appendix 1.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product

Reference product identification Connect/disconnect the wire of a loadspeaker in Household/Commercial areas, according "Passive product -
WNAG25B non-continuous operation" scenario, and for the reference service life of the product of 20 years

Use scenario based on :

PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
3.15. OTHER EQUIPMENT - Passive products - Non-continuous operation product.

PEP ecopassport 1/5 HAGE-01485-V01.01-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
] % ] % ] %

PC 32.91 37.8% Zamak 2.40 2.8% Cardboard 32.03 36.8%

PP 12.19 14.0% Brass 1.25 1.4% Wood 2.07 2.4%

SBR 1.81 2.1% Stainless steel 0.84 1.0% Paper 0.83 0.9%

PE-LD 0.44 0.5% Silicon 0.06 <0.1% Other 0.10 0.1%

Stainless steel 0.06 <0.1% Paper 0.10 0.1%

Other 0.03 <0.1%
Total m.ass of reference product with raw material 87129

packaging :

Total mass of reference product 82.94¢g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation (VET) End of life Module D

o
=
. © 7]
= o
o = o 20 k=
c = = c Q o Q0 ©
i) |3} 13 c ] 5 = = = = S
2 8 S S 53 3 ] s 5 9
g2 = o o © c® 5T = 2 o oo c = =35 ® 3
= £ c c o2 = 5 = os o c c £ o 2 5 S @ o 2 o Qo
< e @ = c @ @ =20 e 9] S S T ) - E b7 = =
@ 5 a c a @ 2 < . g <} T 8 S8 = b » © ol c
o9 £ 2 S8 58 o £ 5 5 ® £® @ S 63 T > 2 2
T O © S e 2w 35 5 2 g s 3 o 5o T a8 = S &2
&3 2 © 5] © © |5 o] o S o 9] 3 @ 2 =z @ a LR
= B a S a > = O © i =) L a = >
=4 £ 2 = £ 1] 7} o >
[CREeN =] = O T O © T c 4 = 7] S5 5 > c ° 3 2 2
= o] c < 0 = 0 o © [ Q o 2 £ (<] = 0 (=) s »
il = I} 2 @ [z} 52 ° 7} o @ oo o} S35 c 5 o
ES| % = 8a £3a 0o = 4 = c5 o< a -8 3 2 22
= © <3 o ) 3o ) 5 = Eg a5
T @ < < =1 = 2 o T o c
@ 2 = = 0:3 © £ o 2 o
e [im} = F 2 2
= a o
2
k]

=X] B4

Life cycle stages

Manufacturing Distribution

These products are manufactured by a site that has received an environmental certification The packaging has been designed in accordance with current regulations. In particular,
ISO 14001. the European directive 94/62/CE relative to packaging and packaging waste.

This phase takes into account raw materials, manufacturing processes, production offcuts The used packaging is 100% recyclable or recoverable.

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the Packaging and logistic flows are continuously improved in order to reduce their impact.

manufacturing site, and transport from the manufacturing site to the final logistics platform.
This phase taken into account the transport of the finished product, including packaging,
to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time

0.000063 30.0% 0 70.0% 0 0.0% 0 0.0% 0 100.0%

This corresponds to a total energy consumption of 0.003 kWh for the use span of 20 years.

Energy model of the use phase :
Europe

Const and mai 1an

None

PEP ecopassport 2/5 HAGE-01485-V01.01-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 39%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.4-4 with the database version CODDE-2025-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe Europe Europe Europe

tal impact ind

P
Envir

. . Manufacturing Distribution Installation Use End Of Life

Indicators Unit A1-A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.83E-03 2.16E-05 1.02E-04 4.14E-06 3.55E-04 3.31E-03 -5.17E-04
Climate change - Total (PEF-GWP) kg CO2 eq. 4.89E-01 1.38E-02 8.41E-02 7.01E-04 6.79E-02 6.56E-01 -8.02E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -3.04E-02 2.27E-05 5.13E-02 2.74E-05 1.13E-02 3.22E-02 -6.61E-04
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 5.20E-01 1.38E-02 3.28E-02 6.74E-04 5.66E-02 6.24E-01 -7.95E-02
Climate change-Land use and land use change

kg CO2 eq. 6.23E-05 2.09E-08 3.21E-10 2.35E-11 4.48E-10 6.23E-05 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 3.88E+00 3.95E-01 4.80E-01 1.37E-03 3.58E-01 5.11E+00 -1.63E-01
EF-particulate Matter (PEF-PM) neceneest 1.84E-08 1.86E-10 5.96E-10 3.62E-11 3.43E-09 2.27E-08 -4.04E-09
Eutrophication, freshwater (PEF-Epf) kg P eq. 2.60E-06 5.15E-08 4.74E-07 3.19E-09 8.01E-07 3.93E-06 -3.97E-05
Eutrophication, marine (PEF-Epm) kg N eq. 3.81E-04 3.93E-06 4.33E-05 4.17E-07 8.34E-05 5.12E-04 -4.17E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.65E-03 4.31E-05 3.14E-04 8.08E-06 6.69E-04 5.68E-03 -5.17E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 6.39E-09 2.67E-12 3.78E-09 9.38E-13 7.25E-11 1.02E-08 -2.22E-10
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 7.64E-09 5.10E-11 1.03E-10 3.13E-12 8.48E-10 8.65E-09 -4.97E-09
lonising radiation, human health (PEF-IR) kg Bqg U235 eq. 1.56E+00 4.84E-04 5.20E-03 1.69E-03 4.77E-03 1.567E+00 -7.31E-04
Land use (PEF-LU) No dimension 3.92E-01 9.10E-05 3.18E-03 1.12E-03 1.05E-01 5.01E-01 -4.48E+00
Ozone depletion (PEF-ODP) kg CFC-11 eq. 9.41E-09 1.61E-10 5.04E-10 6.64E-12 6.50E-09 1.66E-08 -1.59E-09
:’F',‘é’gf;hggga' ozone formation - human health |\ ¢ NMVOC eg. 1.26E-03 1.39E-05 7.12E-05 1.34E-06 1.97E-04 1.54E-03 1.51E-04
Resource use, fossils (PEF-ADP) MJ 1.11E+01 2.45E-01 3.34E-01 2.23E-02 9.06E-01 1.26E+01 -2.70E-01
At T [IEEDER (s 5.97E-06 5.00E-09 7.756-09 2.50E-09 4.12E-07 6.40E-06 -1.70E-06
(PEF-ADPe)
Water use (PEF-WU) 1.05E-01 5.07E-04 2.85E-03 4.44E-05 1.25E+01 1.26E+01 -1.45E+01
Resource use indicators
. Manufacturing Distribution Installation [VET End Of Life

Indicators A1A3 A4 | A5 | B1-B7 | c1-Ca | GLOBAL ‘ Module D
Net use of fresh water 2.46E-03 1.18E-05 2.26E-04 1.07E-06 3.28E-01 3.30E-01 -3.44E-01
Total primary energy 1.45E+01 2.46E-01 4.04E-01 3.70E-02 9.78E-01 1.61E+01 -9.50E-01
Total non renewable primary energy 1.11E+01 2.45E-01 3.34E-01 2.23E-02 9.06E-01 1.26E+01 -2.70E-01
Total renewable primary energy 3.38E+00 1.00E-03 6.98E-02 1.47E-02 7.14E-02 3.54E+00 -6.79E-01
Non renewable primary energy used as energy 8.97E+00 2.45E-01 3.34E-01 2.23E-02 9.06E-01 1.05E+01 -2.70E-01
O OIC UMER RSOV ESEEES (B 2116400 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.11E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 2.77E+00 1.00E-03 6.98E-02 1.47E-02 7.14E-02 2.92E+00 -6.79E-01
Renewable primary energy used as raw material 6.17E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.17E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

PEP ecopassport 3/5 HAGE-01485-V01.01-EN



Waste category indicators

Manufacturing Distribution

A1-A3 A4 GEOBAL

Indicators

Installation End Of Life
A5 B1-B7 C1-C4

5.82E-05 1.94E-03 4.04E-05 5.52E-03 0.00E+00
Non hazardous waste disposed 2.29E-01 1.28E-03 9.72E-03 1.24E-04 6.75E-04 2.41E-01 0.00E+00
Radioactive waste disposed 8.77E-05 1.01E-06 2.22E-06 3.18E-08 3.01E-07 9.13E-05 0.00E+00

Hazardous waste disposed 2.61E-01

Output flow indicators

Manufacturing Distribution

GLOBAL

q Installation End Of Life
Indicators

A1-A3 Al A5 B1-B7 C1-C4
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Components for re-use 0.00E+00

Materials for energy recovery 9.46E-04 0.00E+00 2.84E-03 0.00E+00 0.00E+00 3.79E-03 0.00E+00

Materials for recycling 3.52E-03 2.34E-12 2.58E-02 8.03E-11 9.96E-11 2.93E-02 0.00E+00

Biogenic carbon content

Packaging i Cardboard

Biogenic carbon content (ratio) 2.80E+01 3.78E+01 3.95E+01
3.20E-02 9.25E-04 2.07E-03 3.50E-02
Biogenic carbon content (declared unit) 8.97E-03 3.50E-04 8.19E-04 1.01E-02
Biogenic carbon content (functional unit) 8.97E-03 3.50E-04 8.19E-04 1.01E-02
ADEME APESA/RECORD EN 16485
a 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bo 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge bo 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

Drafting Rules
Registration N°:  HAGE-01485-V01.01-EN

Supplemented by

Verifier accreditation N°:  VHG5
Date of issue: 3-2026

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Validity period: 5 years

Internal e External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a concrete
application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01485-V01.01-EN



Appendix

human health (PEF-IR) - [kg Bq U235 eq.]
Land use (PEF-LU)

Exported energy - [MJ]
n renewable primary energy - [MJ]

Components for re-use - [kg]
Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Materials for recycling - [kg]

Net use of fresh water - [m3]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Resource use, minerals and metals
(PEF-ADPe) - [kg Sb eq]

Total primary energy - [MJ]
Total renewable primary energy - [MJ]

Use of secondary material
Water use (PEF-WU) - [m3 eq.]

=
g
+

o
o
S
E
a
<
u

i}
=
=

S

]

S

bl

S

<

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWP) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADP) - [MJ]

Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
ing radiation,

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as energy - [MJ]
Non renewable primary energy used as raw material - [MJ]
Renewable primary energy used as raw material - [MJ]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC eq.]

oD M
S <
= WNAB25B awocos| ameor| aona| saocor| ezmeos| ooveo| ameco| asocos| asrcos| seseas| avocoo| zsrcor| swcos| receos| rsocon| avecor| swscos| ssmews| cweos| sacor| soroo| avean| sarcos| rsicos| vzeos| armeos| amoo| wreor| vswor| soreos| rrimor| taseor| ssseco| oooeao| owmoo) ooseco| rescor
=t
5 <
o
£ WNA625 asscos| ameor| soaa| savsor| ezseos| ooveao| ssseco| zeosos| ssreor| ssseos| aoosco| zsieor| ssosos| raceos| rsocon| soceor| seseos| sszews| cuecs| zassor| soreoo| avean| sareos| rsscos| rzseos| srmeos| ameco| sireor| vor| soreos| rreor| aseor| ssseoo| oooeao| ocomoo) ouseo| reseor
f=4
©
= WNA626 swcoa| azeor| 2eon| sescor] soreos| ooveo| sureeo| avocos| swocos| rescas| avocoo| soscor| rrocos| savees| ssocon| wsocor| soreoo| sveees| sascon| asseor| semor| arean| sesos| avocon| awmeos| aseos| swomeo| szreor| 1romor| osscos| sroeor| 2zeor| seseoo| ooomn| ocoroo) osseo| sascor
WNAG626B sscoa| azeor| wens| wuor| soreos| ooveo| sureco| avocos| sorcos| zescas| awosoo| sowor| rrocos| sveos| rsocon| osocor| roreoo| steews| ssecs| aweor| rezor| arean| resos| avocos| zweees| aseon| sweoo| wareor| 1oeor| osscos| tromor| 2zseor| sesco| oomao| owmoo) ooseoo| raseor
c E
= WNA625B aiscos| sseea| aarecs| rsssco| zooeos| oooman| soseor| siscos| ssseos| asieos| acosco| sszeos| zerere| sioenn| esieor] wrosos| ocoeoo| asere| rissos| rascs| zuseor| ooocon| rsiero| rssero| rsseos| sorcos| roosos| ooneoo| zesson| soeos| 2uscor| zascor| 1ooecs| ovoson| oomeo| ooceco| soreas
=3
£
=
i WNA625 avocos| em| azos| rcor| zoseoo| oooman| soseor| swseon| aseos| sareas| ovoceo| sweos| aerera| swerr| esseos] arocos| oo 2sera| rcos| sacos| zescor| ooocon| tstero| tsero| raseos| sorcos| rooco| oomeoo| aescar| sovcos| auscor| asscor| 1onces| owomon| oomeo| oooeco| sorens
WNA626 saicos| tsoeoe| oseeos| reosce| 2aseoo| oooeao| saseor| ssocon| azseos| saereos| ovosoo| sareos| zwero| ssenn| sowor| ameos| ooeco| 2sere| rascos| rwcos| 2escor| ococon| 17| zorero| rsreos| vioeos| roscos| ooneco| zescor| sseon| zsocor| zereor| osees| omomon| ooneoo| oooeco| sasens
WNAG626B asscos| rsteee| 2aecs| rsiece| zaseos| oooean| asieor| ssisos| asosos| arseos| acosco| ssseos| zssere| sssenr| sseor] woreos| oceco| asrerz| 120s0s| raocos| zemeor| ooocon| rmero| zoserof reseos| viios| riosos| ooneoo| zeseon| suseon| zeveor| ameor| soecs| ovoson| oomeo| oooeco| sssens
c 0
o <
= WNA625B roos| aacor| srew| smecs| azen| oomeoo| sweor| armeor| sscos| avcos| oo 1sem| amecs| tmero| smew| swes| aweos| asseor| azeos| sros| aseor| omeco| sowro| soen| rrees| azmees| someos| owmon| sweor| rmsees| asenr| soor| ssseos| ooveof ocoron| osseoo| zeseeo
&
17} WNA625 roeor| sucoe| swece| szmeca| sz ooeoo| sseor| armeor| esscos| sveos| oveco| 1oeas| smeos| roseo| szews| srseas| sseos| asscoo| 2zeos| oraees| aseor| oomeoo| sorof sonero| rizcos| 2zeos| somece| ooocan| svor| rrscos| ssicor| aoeor| concce| ooneoo| ooeao| ooosco| zsseon
f=
WNA626 roor| suieor| swseco| sameca| soero| oomeoo| smeor| ameor| asscos| sucos| ooeo| 1owas| srses| rosero| saews| ssecs| zsos| zsseor| oaseas| srecs| sseeor| ooneco| soero| soro| rraeos| 2zzecs| sonece| owomon| ssaeor| raseos| ssear| sowor| ssseor| oooeaof ooomon| omeo| zsseos
WNA626B soos| awcoe| srewe| smeca| azen| oomeoo| sweor| armeor| sscos| avcos| oo 1sem| ameos| tmero| smew| sweos| aweos| aseor| azeos| sres| sseor| omeco| sowro| swen| rrces| azmees| someos| owmon| sweor| rmeos| asenr| soor| ssscor| ooeof ocomon| oaseoo| 2eseeo
~
® oM
=} WNAG625B sricos| roeor| 2meos| omeos| zssen| ooeao| raras| awcos| armeor| soseos| ovosoo| wowcos| osmers| sroera| rosos rioces| oooeco| sosen| roros| raecos| 2zece| ooocon| csere| swen| roeos| siaeos| rarwor| ooneoo| 2zsese| 2soeon| azscor| amece| erece| ovocon| oomeoo| oooeco| asses)
WNA625 anos| roreos| amieos| omeor| amen| omeoo| roeas| sieos| aveor| oomes| oseioo| comos| amers| avere| veseoa| rroses] ocosco| sumeni| voreos| raseos| 2mecs| omeon| csere| smen| rusoe| ssmecs| rarcos| ooocio| smecs| asomos| ameea| sroeca| rarecs| oomeoo| omen| woocao| avseos
WNA626 sorcos| rosem| oweos| rseon| sareni| oooean| saecs) rascos| omeor| ssmcas| owosoo| suscos| zwero| rarera| assees| zerees| oooeco| 1smeto| asoco| ameos| savews| owocon| rssen| assen| asseos| remos| swcor| omeco| saveas| sweos| sacor| ssseer| ssscos| owoeon| ooneoo| oooeco| tosens
WNAG626B sorcos| roiem| oveos| rsms| sareni| ooeao| saecs| rascon| omeor| sssos| ovosoo| ssseos| zwere| rarere| aeos| zeiees| ooeeo| 1srero| asosos| zweos| savece| osocon| rssen| wwsen| aveos| reos| swor| ooneco| savsse| sawon| szocoe| ssiece| ssseca| osomon| ooneoo| oooeco| roteas
o <
=0
i WNA625B ssseos| omeoa| treoa| someee| aserol omeoo| asseor| soveor| esos| asocos| ooco| ssmm| rasen| asero| armeos| vosor| owoeoo| sseeni| azmeor| ersees| sosor| omeoo| sseos| sswos| rsmeos| soreor| rreees| ovoem| soscor| sreor| someor| armeor| rueor] omeoo| ooopan| noocco] szsen
= =
° WNA625 asscos| oroewe| 11eo| swcce| smero| ooeao| sseor| socor] aseos| osseor| aweoo| sscos| rasers| ssmerof arem| roscor| oooeoo| oweri| szeor| ercos| sweor| ooocan| sseos| asscos| vsmeos| sorear| ruoe| omeoo| ssscor| araeor| sosor| wmeor| rrece| oooeao| owroo| ooseco| sasear
WNA626 ssscor| azewa| tieeaa| ri0se| sareo| ooveao| asaor| oesor| rzmeos| sseos| aosco| sseeos| sorers| aseos| ssieas| raseor| ocomoo| oomer| eocosor| ssosos| sraoo| ooopan| sseos| assco| zuscos| sossor| sreoa| omeoo| 1uco| steeor| rrecon| rzzmoo| serece| ooomao| ocomon) owseoo| sszeen
WNAG26B ssocos| ozmems| 1esoa| 7ieee] szrero| ooveo| aracor| sssor| tzmeos| sweas| acoeoo| sszeos| sorers| zees| ssiem| raseor| ooomoo| smeri| soosor| sssos| sraoo| oooman| somos| asseon| asseos| sossor| esrmon| omeno| 1sco| simeer| srecon| 1zzeoo| sereoa| oooen| oomon] oameio| sszeer
2 WNAG625B sieor| aoeoa| soieor] roseozf oooeoo| ooen| 1mor| agmeos| aveos| sieos| o] ooen| 2zerof asmeoo| 7svens| asseof oooeoo| oooeo) asseor| oooeoo| 2roeor| omeaof sseos| soieos| 1sieas] ooomoo| erseor| omeaof 2rmeor| -r7eos| -2r0e0r| ase;| srseor| omedo| ooomoo| oooeoo] -resean
=1
8
= WNA625 sireor| scaeue| ssicor] roscor| oooeao| ooocan| tsscor| soreos| rreos| sireor| ososoo| osmeoo| 2zzmrof aorece| 73t asseoo| ooozao| coocun| suscor] ocoeoo| 2rueor| ocomon| -tsosoo| -sougoo| rstean| ocomoo) srcor| ooveao| arusan| -vrosos| aromer| -osoeor| srmeor| osomon] oomeo| ocoeao| -tescian
WNAG26 omscos| 1oeor| sorcos| omor| oomeoo| ooocan| zror| 7sscos| saseos| rsneor| oweo| omeoo| amerof osmeos| sassos| semmoo| ooocaof avocn| wareor| ocoeco| ssmeor| ocomon| zosos| -ssopoo| 2zmeas] ocomoo| armeor| oomeco| ssceor| aveos| asoeor| vzzecof ermeer] omeon| oomeoo| oooecof nerenn
WNA626B zscor| roeor| socor] rocor| oomeao| ooocon| 2eror| rsicos| sasees| roveor| omeoo| oomeoo| mero| ssmeos| sucor| sszeco| ooocao| awocon| 4sicor| ocooo| soeor| owomon| zoios| ssomoo| 2zmean| owomoo| srreor| ooveco| ssceor| avoeos| asomor| vzzeco| srreor| omomon| ooneco| oooeaof -t

PEP ecopassport 5/5 HAGE-01485-V01.01-EN



